by The Campus League of Puzzlers

Solution to Metapuzzle:

The answers to this semester’s puzzles were

TERTIARY
MONORAIL
DIALOGUE
BINARY
UNITARD
SEPTEMBER
THE PENTAGON
BIKINI
QUINTESSENCE
UNIVERSE
TRIMESTER
OCTOPUS

Each of these words includes a component whose
root meaning is a number. For example, OCTOPUS
includes OCT, which comes from the ancient Greek
word for the number 8. Using the conversion A=1,
B=2, etc, the answers spell out CABBAGE BEACH, in
the Bahamas.

Congratulations to Team Surfbort, Smurfbort, and
jk for being the first three solvers to submit the cor-
rect answer to last week’s puzzle on our website.

If you enjoy puzzles, we hope you will join us at
the annual Berkeley Mystery Hunt at the end of the
spring semester.

This is our last column of the semester. See you in
January!

https://www.facebook.com/CalPuzzlers



